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Abstract

Tdoc T3-000387 is a proposed GERAN CR on GSM11.10-1 section 27, which specifies ME tests regarding the ME-SIM interface.

We have some comments on the CR, but as well on the 11.10 specifications itself, for some electrical tests.

Current condition on RST, for 1.8V-section 27.17.2.2

The current value specified in GSM 11.18 in the high state is +20 (A.

But Tdoc T3-000387 uses a 200 (A value.

See sections 27.17.2 (table 27.2-1), and test description for 1.8V within section 27.17.2.2

Voltage condition on CLK for 1.8V –section 27.17.2.3

The minimum value in the high state specified in GSM11.18 is 0.7xVcc, the minimum Vcc being 1.8V-10%. It leads to a value of 1.132 V.  

But Tdoc T3-000387 uses a 1.1 V value.

If the GSM 11.18 figure should be rounded off in 11.10, it should be done in the other direction, because the test is done on a ME minimum supply. It's better to test that the ME provides at least 1.2V rather than 1.1V, otherwise we may experience ME-SIM interoperability problems.

The maximum value in the low state specified in GSM11.18 is 0.2xVcc, the maximum Vcc being 1.8V+10%. It leads to a value of 0.396 V.  

But Tdoc T3-000387 uses a 0.4 V value.

If the GSM 11.18 figure should be rounded off, it should be done in the other direction, because the test is done a ME maximum supply. It's better to test that the ME provides in most 0.39 V rather than 0.4 V, otherwise we may experience ME-SIM interoperability problems.

Voltage condition on CLK for 3V–section 27.17.2.3 [unmodified text from GSM 11.10-1]

The minimum value in the high state specified in GSM11.12 is 0.7xVcc, the minimum Vcc being 3V-10%. It leads to a value of 1.89 V.  

But GSM 11.10-1 uses a 1.85 V value.

If the GSM 11.12 figure should be rounded off, it should be done in the other direction, because the test is done a ME minimum supply. It's better to test that the ME provides at least 1.9 V rather than 1.85 V, otherwise we may experience ME-SIM interoperability problems.

The maximum value in the low state specified in GSM11.12 is 0.2xVcc, the maximum Vcc being 3V+10%. It leads to a value of 0.66 V.  

But GSM11.10-1 uses a 0.7 V value.

If the GSM 11.12 figure should be rounded off, it should be done in the other direction, because the test is done a ME maximum supply. It's better to test that the ME provides in most 0.6 V rather than 0.7 V, otherwise we may experience ME-SIM interoperability problems.

Conclusion

Gemplus would like 3GPP-T3 to recommend to TSG-GERAN#1 an updated CR, taking into account the previous comments.

